Unit 6.6 Radical Addition and Subtraction

1. Simplify the following radical expressions

a.\/§+\/§=

L 2V2 +2 =

o

V24 + V48 =

o

3V6 — 7V6 =

o

d. V20 + 3v80 — 19v5 =

. 2V3 — V12 4+ 2V/18 =

[¢’]

3V12 + 4V/48 — V108 =

-
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g.9\/E+\/3_—\/ﬁ=

. Simplify the following radical expressions

a. 3yV3x® + x%\/12xy? =

b. 2w2,/6wy® — yV96w>S =

c. xV54xw? — Swvéex3 =

d. 8xVv48w3 + wvV27wx?2 =

e. —\/32y*+ 3Y/162y8 =

— /32y + 23/108y8 =

-
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3. Perform the requested operations and simplify as much as possible

a.V3(8V3 — 2V6) =

b.V2 (510 + 2v2) =

c.2V5(3V15 — 7V10) =

d.3V7 (9V21 + 5V14) =

e.(V5 — Vx)(V5 + Vx) =
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f.(2V5 — 3v2x)(2V5 + 3V2x) =

g (3Vx + V5)? =

h. (4Vw — 2V5)? =
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